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Lesson 4 Worlisheet 1
Using trig ratios to solve for a side in a right friangle

Solve for xin each triangle below. Use what you learned in lesson 3 to first identify the ratio, then

write the equation, and then solve the equation. Make sure your calculator is in degree mode.
Round your answers to 2 decimal places.
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Lesson 4 Worksheet 2
Using inverse trig ratios to solve for an angle in a right triangle

Part I: Use your calculator and inverse trig functions to find the angle for each ratio below to the
nearest tenth (round to 1 decimal place).
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Part II: Solve for x in each triangle below. Use what you learned in lesson 3 to first identify the ratio,
then write the equation, and then solve the equation. Make sure your calculator is in degree mode.
Round your answets to the nearest tenth.
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Warm Up...

of ) b) Find angle B given...sin B =0.8051
/3:20 c¢) Find angle C given... tan C =7
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Assignment Solutions...Front page
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In a right triangle, the ratios that relate each leg to the hypotenuse depend only @
on the measure of the acute angle, and not on the size of the triangle. These

ratios are called the sine ratio and the cosine ratio.

The sine ratio for A is written as sin A and the cosine ratio for A is written
as cos A,

The Sine Ratio

If ZA is an acute angle in a right triangle, then C
sin A = length of side opposite ZA
length of hypotenuse et hypotenuse
LA

The Cosine Ratio
. . - . B adjacent A
If ZA is an acute angle in a right triangle, then to LA

length of side adjacent to ZA

COSA =

length of hypotenuse
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one of its acute angles.

-

C
Side
opposite
LA

Side adjacent to LA
The ratio

is called the tangent ratio of ZA.

The Tangent Ratio

If ZA is an acute angle in a
right triangle, then

length of side opposite ZA
length of side adjacent to ZA

tanA =

We name the sides of a right triangle in relation to

A

adjacent

Length of side opposite ZA : Length of side adjacent to ZA

opposite
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HOMEWORK...

- Puzzle Worksheet - Finding an Unknown Side with Trig.pdf

b

~ Puzzle Worksheet - Finding an Unknown Angle with Trig.pdf

b



Attachments

Q Puzzle Worksheet - Finding an Unknown Angle with Trig.pdf
Q Puzzle Worksheet - Finding an Unknown Side with Trig.pdf
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ey What Do They Call the Big Grass Field B8giis
on an Orbiting Satellite?

For the first eight exercises, find the length x. For the remaining exercises, find the length needed 1o solve Ihe problem. Round
each answer (o the nearest tenth. Cross oul each box thal conlains a correcl answer. When you finish, write the lellers from
the remaining boxes in Ihe spaces al the botlom of the page.
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@ Al a poinl 20 melers ! e If a rocket llies 2° olf course for
flagpole, the angle of
elevation of the lop of
© - Ihe ilagpole is 48"
+ " How tall Is the
flagpole? ;

@ As il leans against a building,
a 9-meter ladder makes m
an angle of 55° with lhe &
ground. How far is the o

1000 miles, how far fiom Ihe
correct palh will the rockel be?
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- For he first eight exercises, find the length x. For the remainin

SRR What Do They Call the Big Grass Field B,
on an Orbiting Satellite?

each answer to the nearest tenth. Cross out each box thal con
the remaining boxes in the Spaces al Ihe boltom of the page.
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